CBIS 3213 Exam 1 Key – Spring 2005

M/C Cisco Questions:

	1
	B
	31
	D

	2
	C
	32
	D

	3
	C
	33
	D

	4
	C
	34
	B

	5
	B
	35
	C

	6
	C
	36
	C

	7
	A
	37
	C

	8
	B
	38
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	40
	B

	11
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	B
	45
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	C
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	D
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	D
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	B

	21
	C
	51
	A

	22
	B
	52
	D

	23
	D
	53
	B

	24
	C
	54
	B

	25
	B
	55
	B

	26
	B
	56
	B

	27
	C
	57
	D

	28
	D
	58
	C

	29
	B
	59
	C

	30
	D
	60
	B


[image: image1.png]Written Response — Wrile a concise, correct answer (o each question in the space provided.
1. Fill in the remaining four layers of the OSI model in the figure provided:
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2. Fill in the following table with the appropriate conversions:

Binary Decimal Hexadecimal
1000 Il9 134

2
11011011 ] 24 DB

ologld 21 D2 |
168.16.194.1 | A% i

3. Write the number of the OSI Layer next to each of the following descriptions:

Data Representation (Format of Data) V4§ l =
Access to Media, Physical Addressing (MAC addresses), & Error Notification S

Network processes to applications

IP Addressing, best path selection & connectivity

bl

4. Match the TCP/IP Model layer on the left to the protocol or element on the right (draw lines).

[ Ethernet, LANs & WANs

= 1P

L FTP, SMTP, DNS, HTTP
TCP & UDP

[ Application 7
Transport

| [ntemet - o

Network Access .

i
N
|

5. Match the terms on the left with their definitions on the right (draw lines).

bit A measure of the rate at which data is transferred over a network
Byte ~ The smallest unit of data in a computer g
kbps A unit of frequency for clock cycles and wave frequencies

| MHz A unit of measure for data files, disk storage, or data transmission

6. Match the terms on the left with their units of measurement on the right (draw lines).

Voltage _ Ohms
| Current ~ e Volts
Resistance Mbps
Bandwidth.{ o Amperes ]

-
Binary transmission over wires and connectors 46 =l
=

Reliable End-to-End Connections and Error Correction 'y»" = |

Establishing, managing & terminating interhost communication 3 rl - 9/‘




[image: image2.png]7. Fill in the wiring color sequence for a T568-B connector (straight-through cabling here in the US):
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8. Fill in the wiring color sequence for T568-A (“crossover” end in US, straight-through in the EU):
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o
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9. Match the wire testing terms on the left with their definitions on the right (draw lines).

NEXT Combination of impedance discontinuities and attenuation —\
| FEXT | ~ Crosstalk signal at the same end of the cable
Insertion loss Crosstalk at the far end of the cable or at a point along the cable
Wire map 4 L Ensures that no open or short circuits exist in a cable

10. Open answer: Write any other definition, concept, or item of interest that you learned so far or studied
that did not appear on this test:

Survey: What are the two most interesting/useful things you have learned so far in the course?




